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var result = function(row, data){
1
}

row -
data -

false -

.....................................................................................................................................................................................

for(var i = 0; i < data.length; i++){
var row = data[i];
if(row"columl1"] == null || row "columl"] === "val ue"){
row "colum?2"] = row "colum3"]/row "col um4"];
}
}

return fal se;
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1 for{var i = @; i < data.length; i++){ " " I=N -2 " =
2 var row = data[i]; ;ﬂ?ﬁ EE1E_ ﬁ EE1E
3 if(row[“F=&"] == "F=&1" )
i
5 row["H1E"] = row["LH"];
5 1
7
8 }
9 return false;
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